

1001 Morehead Square Drive, Ste 500 Charlotte NC 28203 Return Service Requested INVOICE NUMBER 360036468

INVOICE PERIOD 02/26/24 - 03/31/24

CUSTOMER NAME AMPERSAND
CUSTOMER ID 40007761
ADVERTISER NAME ISS/Majority PAC

AMPERSAND 400 BROADACRES DR 3RD FL BLOOMFIELD, NJ 07003



Contact us to begin receiving your monthly invoices via email or to update your mailing address. 877-286-7117 | reachbusops@charter.com



Remittance Section	
CUSTOMER ID	40007761
DUE DATE	04/30/2024
INVOICE NUMBER	360036468
INVOICE TOTAL	\$4,167.08
PAYMENT RECEIVED	\$(4,167.08)
TOTAL DUE	\$0.00

AMPERSAND 400 BROADACRES DR 3RD FL BLOOMFIELD, NJ 07003 Mail Payments to: SPECTRUM REACH PO Box 936671 Atlanta GA 31193

enteldeltmehtelltalarbandalabdalldbak

Remember to put your CUSTOMER ID on your check and make payable to SPECTRUM REACH or pay online at https://clientportal.spectrumreach.com



INVOICE NUMBER INVOICE PERIOD

360036468 02/26/24 - 03/31/24

ORDER SUMMARY

Customer ID: 40007761
Customer Name: AMPERSAND

Advertiser	Order #	Account Executive	Total Cost
ISS/Majority PAC	CA11535215	TOM LAKY	\$5,635.00

Payment Terms 30 days Due net

Advertising Total	\$5.635.00
Advertising Total	\$5,635.00
Agency Discount	(\$845.25)
• •	,
Rep Firm Discount	(\$622.67)
Invoice Total:	\$4,167.08
invoice rotal.	Ψ+, 107.00



INVOICE NUMBER
INVOICE PERIOD

360036468 02/26/24 - 03/31/24

COMMERCIAL SUMMARY

	Product Type Linear TV Advertising	Advertiser ISS/Majority PAC	Account Executive TOM LAKY
PO Number 63170361	Contract No PL146733	Estimate No. 11196	
Package	Ext. Order 63170361		Ext Client 898

Spot Title/ID	ISCI	Network(s)	Spots Aired	Total Cost
FCMAPAC01H / SRF70854	FCMAPAC01H	TLC	50	\$5,635.00
			Total	\$5,635,00

ORDER LINE SUMMARY

Line Start	Line End	Line No	Time P	eriod	Network	Reg / Ret	Syscode	Spots Ordered	Spots Aired	Rate	Total Costs
03/29/24	03/31/24	3	7:00 PM	2024-03-31	TLC	LAUE	1563	3		3 \$85.00	\$255.00
03/29/24	03/31/24	4	4:00 PM	2024-03-31	TLC	LAUE	1563	3	1	3 \$85.00	\$255.00
03/29/24	03/31/24	7	7:00 PM	2024-03-31	TLC	LAOS	1566	3	1	3 \$110.00	\$330.00
03/29/24	03/31/24	8	4:00 PM	2024-03-31	TLC	LAOS	1566	3		3 \$85.00	\$255.00
03/29/24	03/31/24	11	7:00 PM	2024-03-31	TLC	LARV	1676	3		3 \$135.00	\$405.00
03/29/24	03/31/24	12	4:00 PM	2024-03-31	TLC	LARV	1676	3		3 \$125.00	\$375.00
03/29/24	03/31/24	15	7:00 PM	2024-03-31	TLC	LAAO	1744	3		3 \$85.00	\$255.00
03/29/24	03/31/24	16	4:00 PM	2024-03-31	TLC	LAAO	1744	2	!	2 \$55.00	\$110.00
03/29/24	03/31/24	19	7:00 PM	2024-03-31	TLC	LAAS	1753	3		2 \$85.00	\$170.00
03/29/24	03/31/24	20	4:00 PM	2024-03-31	TLC	LAAS	1753	3	1	3 \$85.00	\$255.00
03/29/24	03/31/24	23	7:00 PM	2024-03-31	TLC	LAHM	3231	3	1	3 \$125.00	\$375.00
03/29/24	03/31/24	24	4:00 PM	2024-03-31	TLC	LAHM	3231	3	1	2 \$110.00	\$220.00
03/29/24	03/31/24	27	7:00 PM	2024-03-31	TLC	LASO	3394	3	1	3 \$135.00	\$405.00
03/29/24	03/31/24	28	4:00 PM	2024-03-31	TLC	LASO	3394	3	1	3 \$110.00	\$330.00
03/29/24	03/31/24	31	7:00 PM	2024-03-31	TLC	PGHB	4309	3	1	3 \$205.00	\$615.00
03/29/24	03/31/24	32	4:00 PM	2024-03-31	TLC	PGHB	4309	3	1	2 \$160.00	\$320.00
03/29/24	03/31/24	35	7:00 PM	2024-03-31	TLC	LASD	6257	3	1	3 \$125.00	\$375.00
03/29/24	03/31/24	36	4:00 PM	2024-03-31	TLC	LASD	6257	3	1	3 \$110.00	\$330.00
							Total	53	5	0	\$5,635.00

AFFIDAVIT TIME CHARGE - ALL PROGRAM TITLES ARE ESTIMATES

Line	Retail Unit / Region	Region Description	Syscode	Network	Date / Time	Spot Title	Program	Len	Charges
		Orange County - North	1563	TLC	03/29/24 4:53 PM	FCMAPAC01H	Love & Translation	30	\$85.00
		Orange County - North		TLC	03/29/24 7:38 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$85.00
		Orange County - North		TLC	03/30/24 5:53 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$85.00
		Orange County - North		TLC	03/30/24 10:38 PM	FCMAPAC01H	7 Little Johnstons	30	\$85.00
		Orange County - North		TLC	03/31/24 6:48 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$85.00
3	B LAUE	Orange County - North	1563	TLC	03/31/24 8:56 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$85.00
							Network TLC Sub Total (6)		\$510.00
							Region LAUE Sub Total (6)		\$510.00
		Cox Coastal		TLC	03/29/24 5:53 PM	FCMAPAC01H	Love & Translation	30	\$85.00
		Cox Coastal		TLC	03/29/24 7:39 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$110.00
		Cox Coastal	1566	TLC	03/30/24 4:40 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$85.00
		Cox Coastal		TLC	03/30/24 9:53 PM	FCMAPAC01H	7 Little Johnstons	30	\$110.00
		Cox Coastal		TLC	03/31/24 5:39 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$85.00
7	7 LAOS	Cox Coastal	1566	TLC	03/31/24 11:38 PM	FCMAPAC01H	Love & Translation	30	\$110.00
							Network TLC Sub Total (6)		\$585.00
							Region LAOS Sub Total (6)		\$585.00
		Cox Irvine		TLC	03/29/24 5:43 PM	FCMAPAC01H	Love & Translation	30	\$125.00
		Cox Irvine		TLC	03/29/24 8:44 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$135.00
		Cox Irvine		TLC	03/30/24 6:37 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$125.00
		Cox Irvine		TLC	03/30/24 8:55 PM	FCMAPAC01H	7 Little Johnstons	30	\$135.00
		Cox Irvine		TLC	03/31/24 4:35 PM	FCMAPAC01H	Love & Translation	30	\$125.00
11	I LARV	Cox Irvine	1676	TLC	03/31/24 10:41 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$135.00
							Network TLC Sub Total (6)		\$780.00
							Region LARV Sub Total (6)		\$780.00
		North OC U-verse		TLC	03/29/24 4:39 PM	FCMAPAC01H	Love & Translation	30	\$55.00
		North OC U-verse		TLC	03/29/24 8:43 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$85.00
		North OC U-verse		TLC	03/30/24 6:48 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$55.00
15	LAAO	North OC U-verse	1744	TLC	03/30/24 9:43 PM	FCMAPAC01H	7 Little Johnstons	30	\$85.00



INVOICE NUMBER INVOICE PERIOD

360036468

02/26/24 - 03/31/24

AFFIDAVIT TIME CHARGE - ALL PROGRAM TITLES ARE ESTIMATES

ine Retail Un / Region	L Pogion Description	Syscode	Network	Date / Time	Spot Title	Program	Len	Charges
15 LAAO	North OC U-verse	1744	TLC	03/31/24 10:51 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$85.00
						Network TLC Sub Total (5)		\$365.00
						Region LAAO Sub Total (5)		\$365.00
20 LAAS	South OC U-verse	1753	TLC	03/29/24 6:34 PM	FCMAPAC01H	Love & Translation	30	\$85.00
20 LAAS	South OC U-verse	1753	TLC	03/30/24 5:36 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$85.00
19 LAAS	South OC U-verse	1753	TLC	03/30/24 7:53 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$85.00
20 LAAS	South OC U-verse	1753	TLC	03/31/24 4:35 PM	FCMAPAC01H	Love & Translation	30	\$85.00
19 LAAS	South OC U-verse	1753	TLC	03/31/24 11:38 PM	FCMAPAC01H	Love & Translation	30	\$85.00
						Network TLC Sub Total (5)		\$425.00
						Region LAAS Sub Total (5)		\$425.00
24 LAHM	Anaheim/Orange	3231	TLC	03/29/24 4:53 PM	FCMAPAC01H	Love & Translation	30	\$110.00
24 LAHM	Anaheim/Orange	3231	TLC	03/30/24 5:53 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$110.00
23 LAHM	Anaheim/Orange	3231	TLC	03/30/24 7:38 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$125.00
23 LAHM	Anaheim/Orange	3231	TLC	03/31/24 6:58 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$125.00
23 LAHM	Anaheim/Orange	3231	TLC	03/31/24 9:53 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$125.00
						Network TLC Sub Total (5)		\$595.00
						Region LAHM Sub Total (5)		\$595.00
28 LASO	Costa Mesa/Newport Beach	3394	TLC	03/29/24 4:39 PM	FCMAPAC01H	Love & Translation	30	\$110.00
27 LASO	Costa Mesa/Newport Beach	3394	TLC	03/29/24 11:45 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$135.00
28 LASO	Costa Mesa/Newport Beach	3394	TLC	03/30/24 5:53 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$110.00
27 LASO	Costa Mesa/Newport Beach	3394	TLC	03/30/24 7:38 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$135.00
28 LASO	Costa Mesa/Newport Beach	3394	TLC	03/31/24 5:52 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$110.00
27 LASO	Costa Mesa/Newport Beach	3394	TLC	03/31/24 10:41 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$135.00
	·					Network TLC Sub Total (6)		\$735.00
						Region LASO Sub Total (6)		\$735.00
31 PGHB	PG Huntington Beach	4309	TLC	03/29/24 7:38 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$205.00
32 PGHB	PG Huntington Beach	4309	TLC	03/30/24 6:36 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$160.00
31 PGHB	PG Huntington Beach	4309	TLC	03/30/24 11:40 PM	FCMAPAC01H	Little People, Big World	30	\$205.00
32 PGHB	PG Huntington Beach	4309	TLC	03/31/24 4:51 PM	FCMAPAC01H	Love & Translation	30	\$160.00
31 PGHB	PG Huntington Beach	4309	TLC	03/31/24 8:56 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$205.00
	•					Network TLC Sub Total (5)		\$935.00
						Region PGHB Sub Total (5)		\$935.00
36 LASD	Saddleback	6257	TLC	03/29/24 4:53 PM	FCMAPAC01H	Love & Translation	30	\$110.00
35 LASD	Saddleback	6257	TLC	03/29/24 11:45 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$125.00
36 LASD	Saddleback	6257	TLC	03/30/24 6:37 PM	FCMAPAC01H	Dr. Pimple Popper	30	\$110.00
35 LASD	Saddleback	6257	TLC	03/30/24 9:43 PM	FCMAPAC01H	7 Little Johnstons	30	\$125.00
36 LASD	Saddleback	6257	TLC	03/31/24 5:39 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$110.00
35 LASD	Saddleback	6257	TLC	03/31/24 7:40 PM	FCMAPAC01H	90 Day Fiance: Happily Ever After?	30	\$125.00
		-	-			Network TLC Sub Total (6)		\$705.00
						Region LASD Sub Total (6)		\$705.00
						Order CA11535215 Sub Total (5	0)	\$5,635.00

INVOICE NOTES	TOTAL COS	TOTAL COST		
	Advertising Total	\$5,635.00		
	Agency Discount	(\$845.25)		
	Rep Firm Discount	(\$622.67)		
	Invoice Amount	\$4,167.08		